do/dsum E; [mb,GeV]
= =
o [y o
N = o N

[EEN
o
R

=
o
o2

Ratio to UA1

0.5

500 GeV ppbar Soft QCD
I I I | I I I | I I I | I I I | I
- Sum ET (VAL allp) =
- B ]
= (. o TRm 5
— m’. ! ]
- ! EmEy :
| 1 4 .’\’ El |
g ‘e el =
- * *o ¢ By —
=, o .0.‘.’_.’*[5% =
- .""’w.ﬁ\ 7
| ¢ '0-.._7_75 ]
= m UAL =
— | --3-- Herwig 7.2.1 default —
| ¢ Sherpa 2.2.9 default _
=+ S
— )| —
- B =
— * -
- g v ! ]
I ¢ ;
B I EE}E} p IE\ ]
u mm{ﬂg my meg = B
B .-" v B g Hag .
: o ‘ T
- : B \ P
; ' G Be L
— : H \\\ I ',' “‘ :" —
1 1 1 | 1 1 1 | 1 1 1 |m ‘\I" . 1 1 l:. | 1

0 20 40 60 80

Rivet 3.1.10, = 3.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


